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3. - Form the partial differential equation by

.S'NO' 2176 : 08UMAA07 eliminating a and b from z = ax + by +a® + b*.
Sl ot 2, 72 ' G,
(For the candidates admitted from 2008-2009 onwards) z=ax+by+a” +b"-dfopg wihldlamar a wHgLd

. b ew B&4l LG umssAsL FLELITL ML S STERTs.
B.Sc. DEGREE EXAMINATION, NOVEMBER 2017. ;

4. Define the singular solution.
Second and Fourth Semester

@OHeWwS Sia] -euemyuimy.

Allied — DIFFERENTIAL EQUATION AND LAPLACE A
TRANSFORMS : : A :
: 5. Find the complete solution of — =~ +2 4 Jraq.
(Common for Che/CS/IS/B.C.A./Phy/E&C) ) 2g g
Time : Three hours ' Maximum : 75 marks 2wy \ 2l AR
: o = e + ; +4/Pq -6 (PPdWS STeneus STanTs.

SECTION A — (10 x 2 = 20 marks)
6. Salve: pg=l:
Answer ALL the questions. :
o 45 Siés: pg=1.
1 Solve:(D2—4D+3)y:0. ‘
: 7.  TFind- (1 Iy i )

5iés (DZ 4l + 3) yi= (1 g e"z")—gés ST

2. Find the particular integral of (D2 +D+ 1})' =x2. 8  Find: L(e‘s’ cos 2t).
(Dz +D+ 1>y =x’-55 GOOOL Qsrasmwus L(e_st cos Zt)—gés SIS,
STETS.
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9.  Find the value of L! 1 .
(s +2)°

X 10
7h 1{ o 2)6 ) -6t LA LIG STens.

10, Find L‘l(—z—g’;__ ;
258"+ 8s+10

i 3 B
, (2s2+ 8s + IOJ o MW&?'

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
11, (a) Solve : (D2 +D—-2)y =sin2x.
Siiés (D2 +D—2)y =sin2x.

Or

2
(b) Solve : g—%+4y=xsinx.

s .
Erée : d—z’+4y =xsinx.
X
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13.

(a)

(b)

(@)

(b)

Eliminate the arbitrary
z=fi(y+2x)+ fo(y - 3x).

function in.

z = fi(y + 2x) + fo(y — 3x) A(@Hg wrdled grienu
Bé@s.

Or

Form the partial differential equation by
eliminating the arbitrary function in
z = yf(x) + xg(x) .

z=9yf(x)+ xg(x) O mpg wrHled ariepu B

UGS cuans&6la(lp FDETLITL L 2 (HeUTEES.
Solve: (y-2)p+(z-x)g=x-y.
& (y—z)p+(z—x)q byl

Or .

Solve : x(y2 +z) p-y (x2 + z) q(x2 o y2)

8rés : Jc(y2 - z)p -y (x2 + z)q(x2 —y2).
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T iafay iiBand . iglye Laplace

sint ‘0 <t<x
1)i= b
1o '{O e

sint Osth :
= -8 Qevtievmen
[()'{ 0 ti>r i ke

2 (HLOTHDEMSEH &HTawTs.
{ Or
(b Find: L{sin®t cos’t).

L(sin2 l cos?"t)—gés STEHTS.

» s Vgl
15. (a) Find: L ((s+1)(s+2)(s+3].

L — - -3 STETS.
(s+1)(s+2)(s+3.
Or

). Find': L’.l(——l—j.
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" transform of

16,

17

18.

19

SECTION C — (3 x 10 - 30 marks)
 Answer any THREE questions.
Solve : (D2 -4D - 12) y =‘sinx sin 2x .
Siss : (D* 4D -12)y = sinx sin2z .
Find the :.partiél differential equétion by

eliminating the arbitrary function_ in
f(x+y+z,x2+y2+zz)=0.

fa+y+2,5°+y*+2°) =0 -Ampg wrHle srienw
568 LEE cumasQa swauT mLé srdrs,

Find the complete solution and singular solution

of z=px+gy+41+p?>+¢g°.

z2=px+qy+41+p®+q? 6@ OO GBS

ﬁﬁmasmmés HITEOTS.
Find (@) Lltcos’t) () L(Eesﬁ’»*ttco_it]

cos3t cost

(cw)‘ L(tcos3 t) (<2b) | L( >

)—mmés SITETS.
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20.

d2y
dt?

dy
dt

‘Solve —=-—4—< + 5y = 4¢* given

using Laplace transform.

LAl dy 3t
—-4—+5y=4e
il
Qar@sstuledrarar.  Qelimen
vwerL (HS8is.

¥0) =2, y(0) =1

¥0)=2,y0)=7

2 (HTHDSMS
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